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Q1. Examiner's Comment:

A popular and straightforward question, well---answered by most candidates. The most difficulties were
related to the time-e-rate of consolidation and comparing predicted vs measured values. When
comparing measured settlements at a certain time, no student advanced the hypothesis that the final
settlement estimate could be incorrect. Some students were not able to recognize whether a soil was
overconsolidated or normally consolidated by comparing with the experimental results.
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Q2. Examiner's Comment:

Most students were able to answer the questions on unit weight and water contents to build a
compaction curve. Most students had difficulties responding to the qualitative questions on using a
soil that is too wet or one that is slightly dry and compaction effectiveness. The vast majority

could identify the benefits and problems of compacting dry vs wet of optimum, but only one realized
that you can easily add water, while removing it is problematic. Erratic compaction effectiveness
was mostly attributed to soil heterogeneity, with some considering sampling disturbance a problem.
A few could identify layer thickness as an issue. The consolidation problem with an
overconsolidated clay seemed to be generally well understood.
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Q3. Examiner's Comment:

This question was answered easily by a good number of students and generally quite well. Some had
difficulties in calculating moment arms. Most students could not clearly identify the effect of
friction on the forces acting on the wall.
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This question was answered easily by a good number of students and generally quite well. Some had difficulties in calculating moment arms. Most students could not clearly identify the effect of 
friction on the forces acting on the wall.
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Q4. Examiner's Comment:

The main difficulty on this problem was related on how to account for the water around the
foundation in the total stress analysis questions. Meyerhof's approach was generally adopted and
carried out correctly. Some students included the pore pressure as a resisting force in the drained
analysis. A good number of students was able to solve the problem correctly.
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